
 
 
Identify the letter of the choice that best completes the sentence: 
 

1. Establishing an internal market is… 
a. The EU unique goal; 
b. The EU major goal; 
c. Not an end in itself, but a means to achieve economic and political 

goals. 
d. Not a goal to EU nowadays. 
 

2. European corporation law is built… 
a. Replacing the corporation law of each EU member states. 
b. By a complex process of harmonization, with several instruments. 
c. By directives. 
d. By Regulations. 
 

3. European Cooperative Society (SCE) – Societas Cooperativa Europaea is 
a. A new form of corporation that every European individual can use. 
b. Not yet in use in Europe. 
c. A no profit legal entity, carrying on an economic activity mainly in the 

interest of their members. 
d. Introduced by a EU directive. 

 


